ser®

42" LOW-PROFILE BLOW-MOULD CREEPER

PROD. NO. 355132
MOD. NO. JBMC-42440

To install swivel casters, follow the steps below and use the image for reference:
Step 1 Align swivel caster (#2) with holes on base (#1).
Step 2 Insert carriage bolt (#5) through the swivel caster (#2) and the base (#1).

Step 3 Add a bushing (#8) then a washer (#7) over the carriage bolt (#5) that should be visible on the
top side of the base (#1).

Step 4 Secure the carriage bolt (#5), bushing (#8) and washer (#7) with the lock nut (#6).

Step 5 Check each swivel caster (#2) to see if there is any movement between swivel caster (#2) and the
base (#1) if so, tighten lock nut (#6).

Step 6 Press the lock nut cap (#9) over each hole to stop debris.

z
Swivel Caster

REF | DESCRIPTION REQ
1 BASE 1
2 SWIVEL CASTER 6
3 EVA HEAD CUSHION 1
4 EVA BASE CUSION 1
5 CARRIAGE BOLT 12
6 LOCK NUT 12
7 WASHER 12
8 BUSHING 12
9 LOCK NUT CAP 12
10 SPANNER 1

surewerx.com



